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2.

Set-D

INSTRUCTIONS FOR CANDIDATES

Do not open the booklet unless you are asked
to do so.

The booklet contains 70 questions. Examinee
is required to answer all questions in the
OMR Answer-Sheet provided and not in the
Question Booklet. Each question carries
1 mark. There is no negative marking.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you procee(D)
Faulty Question Booklet due to missing or
duplicate pages/questions or having any
other discrepancy should be immediately
replace(D)

(Remaining instructions on last page)
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1.

Set-D

In MS-Powerpoint, key used to run the

slide show from the beginning is :
(A) F9

(B) Shift+F9

(©) F5

(D) Alt+F10

E-mail addresses separate the user name

from the ISP using the ...... symbol.
(A) &

(B @

<o *

(D) !

Multimedia contains :
(A) Audio

(B) Video

(C) Both (A) and (B)
(D) Neither (A) nor (B)

To convert paper into an editable
document, a scanner would employ ..........

technology.

(A) UPC

(B) Scanning
(C) Conversion

(D) OCR

QCA Exam June - 2023

(3)

THIE-TeR@Ee |, TEE o & YE |
= o TeTT ST i S aTeft |sit § ¢
(A) F9

(B) Shift+F9

(C) F5

(D) Alt+F10

A TA oo goieh ShT STHNT hish
STARTSRAl A I ISP ¥ 316 hYd & |

(A) &
B) @
<€
(D) !

(oW aWa

medifean | TN ¥
(A) St

(B) difea

(©) (A) ¥R (B) A
(D) T (A)IFRTH (B)

IS hl Teh THIE I SETOS! § sige
& fau, T B e qehleh ol
SYIRT AT |

(A) g
(B) T
(C) Hasid
(D) STHEISR
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5. When the page is ready to print we can 5. WWE@H%@WW@W@[@
review it using : TSR] IUANT Hieh THh! THIRT hi Tehd
(A) Print Preview ?’-A) s gﬁa:!\
(B) ListPreview ®) for Eﬂa’l
(C) Print Screen ©) fife @
(D) Hard Copy (D) B gy
6. Which of the following is not a search 6. Tr=fafea d § wE ©F ¥+ g5 Tl
engine ? g 7?
(A) Yahoo (A) A
(B) Windows (B) fae
(€) Bingo (€) fami
(D) Google (D) [T
7o e, shortcut keys can use to close the ZERT SMEhe il o1 STAN Taeie =i
windows. WW@WWWW%I
(A) Alt+F1 (A) Alt+F1
(B) Alt+S (B) Alt+S
(C) Alt+End (C) Alt+End
(D) Alt+F4 (D) Alt+F4
8. Modem stands for : 8. TEH & HAe™ ¢ :
(A) A type of secondary memory (A) T YR i fediaen A9
(B) Mainframe operating device memory (B) TTHH SArfen feamgd HH
(C) Modulator demodulator (C) WlTAX SHIgAX
(D) Allof these (D) J |4l

Set-D QCA Exam June - 2023 (4) TB-2 Cont.....



9.

10.

11.

Set-D

Which of the following is NOT a

characteristic of MS-Access 2010 ?
(A) Relational based structure

(B) ACID properties

(C) Low redundancy

(D) Offers a variety of animations

Which of the following in a functionally

complete set of gates ?
I.  NAND

II. NOR

(A) Ibutnotll

(B) IIbutnotl

(C) NeitherInorlIl

(D) BothIandII

Changing an existing document is called

....... the document.
(A) Creating

(B) Editing

(C) Opening

(D) Adjusting

QCA Exam June - 2023

9.

10.

11.

frfafea § § SHAE MS-Access 2010
1 fordrom & € ?

(A) TR NENRa GLeE

(B) Tf&E W

(C) @A Afdh

(D) Tafy= 7R & THEE TS

4

frAfafed # 9 S e & HEes
TIHQUI A AT ?

I NAND

II. NOR

(A) 1R 11 &

(B) 11 Afh 178l

(C) AMIARTRI

(D) 13K I12M

Rt HISQT SO ! S5 ol T&ITS]



12.

13.

14.

15.

Set-D

What is backup ?
(A) Adding more components to your
network

(B) Protecting data by copying it from the
original source to a different

destination
©)
(D)

Filtering old data from the new data

Accessing data on tape

Compiler in computer systemis a :
(A)
(B)
©)
(D)

Package
Translator
Process

Application Software

Which is the fastest memory ?
(A)
(B)
©)
(D)

CD ROM
Cache Memory
Hard Drive

Floppy Drive

The resolution of the screen is indicated by :
(A)
(B)
©)
(D)

Dots
Colors
Pixels Per Inchs

Hz
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12.

13.

14.

15.

FHIT T T ?

(A) 3TUeh g B IR AfE wew
ST

(B) <= ! o Hid § forelt fa= Tiaea
U hTdT hleh Y& he

(C) T B ! T 21 ¥ Theel LT

(D) <9 W 2 T TG

........

(D) TEAhI™ AT

Gorl st AHN G § ?
(A) HrerI™

(B) &3 AHRY

(C) e gra

(D) ATt e

©hiv o1 Reiege™ frden g1 <iten T
g 2

(A) Sid

B) T

) T ufa <=

(D) &
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16.

17.

18.

19.

Set-D

The smallest integer that can be represented
by an 8-bit number in 2’s complement form

is:

(A) -256
(B) -128
(C) -127
(D) -255

Main page of the website is called :
(A)
(B)
©
(D)

Home Page
Search Page
Bookmark

None of these

........ component is used for performing

calculations.
(A)
(B)
©
(D)

ALU
CuU
Mouse

Printer

What is the Excess-3 code of 0100 ?
(A)
(B)
©
(D)

1010
0111
0101
0001

QCA Exam June - 2023
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16.

17.

18.

19.

ol Biel quieh 519 2 % Wk ®9 A

8 Tore TE g <1 <7 Wehoell €
(A) -256
(B) -128
(€) -127
(D) -255

JeTETEE h1 A 53 T ST ¢
(A) BH IS

(B) T @St

(C) IhAR

(D) 3TH | IS T

....... ¥k Sl SYAN TUMT Hid & fau
foran ST 1

(A) TG

(B) ¥

(C) HRH

(D) i

0100 T THITF-3 IS T ?
(A) 1010
(B) 0111
(C) 0101
(D) 0001
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20.

21.

22,

Set-D

............. is a computer program that is
designed to solve complex problems and
to provide decision-making ability like a
human.

(A)

E-commerce

(B)
©)

Expert Systems
Mainframe Systems

(D) MS-DOS

Setting fonts for the text in your document
is an example of :

(A) Formatting

Formulas

(B)
(C) Tracking changes

(D) Tools

.......... is the physical and logical
arrangement of nodes and connections in
a network.

(A) Modem

(B) WiFi
(C) Network topology

(D) Facebook
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21.

22,

........ TH HPR UM § 58 S
THENS 1 B H SN GEM I e
7ot 1 shT &t weT e o fere fespree
[ERIKEIES

(A) Z-HIEd

(B) ToRo wonfer
(C) HI%H faeq
(D) THUTH-TME

T TEES H RS & fau wi= 92
T SHhT Teh ISR R
(A) THTHTET

(B) ThIHeN
(C) fepm =e

[yl

[SN

D)

......... e e # ey ok TR
Aifaer IR difehen e ¥

(A) WIEH

(B) Wifi

(C) ™eash 2rararsit
(D) HEIH
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23.

24.

25.

Set-D

.......... is alive video-based technology that
is used to connect worldwide people
through meetings using video-enabled

devices.

(A) E-mail

(B) Video conferencing
(C) Network

(D) System Software

What is the full form of SQL ?

(A) Super Quality Language

(B) Sequential Quality Language
(C) Structured Query Language

(D) Short Question Line

Primary storage is ......... as compared to

secondary memory.

(A) Slow and expensive
(B) Fastand inexpensive
(C) Fastand expensive

(D) Slow and inexpensive
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23.

24.

....... Teh e dfeal-3nenia dhieh §

fSger ITA Sifea-Ham IYHIN 1

SUINT hieh SI3hi & AIEAH ¥ gRATR &
St 1 SireA & fere feman i 81

(A) 3-7d

(B) <ifed shispfam

(C) dh

(D) T dieam

(A) G

(B) HiFaf¥rae Fanferel eivas

(C) TFIE Fa A

(D) ¥ FAT=A A

25. YRl AHRI 1 g H WA BRI © ¢

(A) e SR HEm
(B) S SR &&=
(C) O TR =&

(D) &1 ST’ T
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26.

27.

28.

Set-D

A strong password should contain :
(A) Bothuppercase and lowercase letters

(B) A word that is easy to remember,

such as the name of a pet

(C) At least 8 characters and a
combination of letters, numbers and

characters

(D) Your complete name

Which coding scheme is used for
representing various writing systems of

India ?

(A) EBCDIC
(B) ISCII

(C) ANSI

(D) WYSIWYG

What is the full form of COD in

e-Commerce ?

(A) Cash on Delivery

(B) Cash on Demand

(C) Commerce on Delivery

(D) Carton Delivery
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26.

27.

28.

Teh HSTe[d UrHee H 3 BT =18
(A) SATHT R ASTHT ST TeR

(B) U vIg f9¥ A€ T 319 =,

S9 forelt Terq SR o1 M

(C) YW FHY g 7eR AR 7&R, Tensi
AR S0 R GASH

(D) 3SAT9ehl QU -H

ORd <! fafi= orem yonfers =1 wfafafie
HE & T SEE HIfST IS R STEM
frm ST g ?

(A) EBCDIC
(B) ISCII
(C) ANSI

(D) WYSIWYG

Z-h19H # COD 1 quf TY 1§ ?

(a) o

(A) H3 A feeted

(B) 3 31 femrs
(C) oA 1A feetedt

(a) (aY

(D) @Te 31 et
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29.

30.

31.

An organization that provides services for
accessing, using or participating in the

Internet is called the :
(A)
(B)
©
(D)

Network Hub
Internet Consortium
Internet Service Provider

Telecom Consortium

The 1’s complement of 1011 is :
(A) 0100
(B) 0101
(©) 0110
(D) 0000

Which key of keyboard is mainly used to
cancel the program ?

(A)
(B)
©)
(D)

Del Key
Enter Key
Ins Key
Esc Key

32. Which of the following is correct formula
in MS-Excel ?
(A) =POWER (2"3)
(B) =POWER (2,3)
(C) =POWER (2%3)
(D) =POWER (2#3)
Set-D QCA Exam June - 2023
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29.

30.

31.

32.

1 3T 9T o & fere Famd ye
R
(A) T &9

(B) FeTE HAITH

(C) 3 Gy Wamget

(D) clehia haeaH

1011 T | A T :
(A) 0100
(B) 0101
(©) 0110
(D) 0000

YIITH %l & hid o foll &4 ©9 9 hiae
1 fFg STt 1 SHAT foman ST § 2

(A) Del Key
(B) Enter Key
(C) Ins Key
(D) Esc Key

Frafafed # 9 Ha THeE- T § 9
e 2

(A) =POWER (2°3)
(B) =POWER (2,3)
(C) =POWER (2%3)
(D) =POWER (2#3)
TB-2 Cont.....



33. How many Boolean expressions can be 33. 3 q\lhcdf‘l'-l dRuae & @y fhat W

formed with 3 Boolean variable ? afe ﬂ@'ﬁﬁﬁm ST Hehdll % ?
(A) 16 (A) 16
(B) 1024 (B) 1024
€ 32 C) 32
(D) 256 (D) 256

34. What is the meaning of acronym Gbps ? 34. dfera A Gbps T =T A 4T ?
(A) Good bits past secure (A) Te T%I{H e fHeRR
(B) Great bits previous secure B) e <H Tiforae IR
(C) Global bits public secure (C) Tarse fored afeeien fHeRIT
(D) Giga bits per second (D) 7w ﬁﬁ\? R AFRTE

35. Which of the following is a storage 35. fr=fafead § @ s & @RS feargg

device ? g2

(A) CRT Monitor (A) HIBTRST A
(B) Hard disk (B) TR few=h
(C) Bar Code Reader (C) dehrS X
(D) Micro phone (D) WISl A

Set-D QCA Exam June - 2023 (12) TB-2 Cont.....



36.

37.

Set-D

Consider the following ordered sequence

of actions in MS-Excel :
L Select cell range A1:E10

II.  Press 100 on keyboard

III.  Press Ctrl+Enter

Choose the true statement, after above

actions :

(A) 100 is entered in each cell of the
range.
(B) 100, 101, 102, ...., 150 entered in

cells of the range.

(C) 100 is entered in cell Al only.

(D) 100isentered in the cell A1 and E10.

Which of the following devices is the
communication medium for the entire
computer system and is placed in the

system unit ?
(A) Motherboard
(B) RAM
(C) ROM

(D) EPROM

QCA Exam June - 2023
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36.

37.

TUg-TsRd # feaei & fefated
HAAG HIhH W fo=m Hifee

I §a S ALEI0 AT

. =iEE W 100 BT
I Ctrl+Enter SIEY

IWI fohaeti o o1g T hod 1 F94
HIWT :

(A) I & &% T § 100 T T
ST

100, 101, 102, ...., 150 I & T
T T fod SR |

100 Shad T Al H TS fohall ST |
A Al 3R E10 § 100 S5 fopen

Sl

(B)

©

(D)

o~

Freferfard H 9 shIE ST §eg0) shgel
foen & fau H=n werd © eI faweA

I H @ TR ?
(A) TS

(B) RAM

(C) ROM

(D) EPROM
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38. Which of the following statements with

reference to ‘Save’ and ‘Save As’ options

in MS-Word is FALSE ?

(A)

(B)

©)

D)

39.
(A)
(B)
©)
(D)

40.

The options are used to create a new

file and/or preserve the original file.

‘Save’ is used when you want to
change the name, location and format

of the document.

‘Save As’ is used to apply changes

to a new file.

With the help of ‘Save As’, afile can

be saved with multiple names.

PDF is an acronym for :

Printable document format
Portable document format
Printable data format

Portable data format

Which of the following is not a translator

of a programming language ?

(A)
(B)
©)
(D)

Set-D

Assembler
Compiler
Interpreter

Loader

QCA Exam June - 2023
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38. QTIQ'H—H_S&'E[ ‘Save’ 3R ‘Save As’ foreai
& ey § frafafed # 9 s weA
TAT® ?

39.

40.

(A)

(B)

©)

(D)

foehedl o1 YA T8 HEA oM
3/ I HIed l TEd L &
fer foman sman 21

‘Save’ 1 YA T foha STaT & ST
3T TEAES 1 T, T 1R W&
FET =R © |

‘Save As’ &1 STAN 7§ ®IEA H
Gfer @] A & T foran S

gl

‘SaveAs’aﬁW@@Waﬁ
e I 4 T foman S gehar § |

TSI ST GfaTa €9

(A)
(B)
©)
(D)

fieaat <lergHe wife
qroaa SleRgHe Wit
fIeaa 221 wite
qeae €21 Wi

frefafed # @ A GUTHT 9o 61
TR Tl © ?

(A)
(B)
©)
(D)

STHETR
THUTEE
TR
e
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41.

42,

43.

44.

Set-D

Which one of the following groups

contains graphical file extensions ?
(A) JPG, CPX, GCM

(B) GIF, TCE, WMF

(C) TCP, JPG, BMP

(D) JPG, GIF, BMP

Radio waves are the example of

communication.
(A)
(B)
©
(D)

Wireless
Guided
Cable base connection

Wired

Which of the following keyboard shortcuts

is used to increase font size in MS-Word ?
(A) Cutl+][
(B) Ctrl+]
©)
(D)

Ctrl + =
Ctrl + -

Which of the following is NOT an input
device ?

(A)
(B)
©)
(D)

Optical Scanner
Keyboard
Mousepad

Printer

QCA Exam June - 2023

(15)

41.

42,

43.

44.

frefafed # 9 s 99g mies wEd
Ty | YA § 2

(A) STTST, HrdTeer, SrEeA

(B) ST, IHE, TTqUATE

(C) STt ST, st

(D) SIS, ST, s,

e o ... HEN 1 3STEL0 ¢ |
(A) TRReH

(B) TEET

(C) whadl o hriaRT

(D) =

TUH-9€ H W< 3SR oigH & fau

frafafea 5 9 fF9 FEE Mdhe o
ST TR ST ® 2

(A) Ctrl+[

(B) Ctrl +]

(C) Ctrl+=

(D) Ctrl +-

frefafea § § wFE T e feary
TR T ?

(A) 3iifesd TR

(B) Hrare

(C) HR=g U

(D) iR

TB-2 Cont.....



45. Internet Exploreris a/an :
(A) Operating system
(B) Compiler
(C) Interpreter
(D) Browser

46. Find the odd man out :
(A) HTTP
(B) FCFS
(C) HTML
(D) TCP/1P

47. MS-Access database is saved as :
(A) .msa
(B) .dbm
(C) .mdb
(D) .mss

48. Which PowerPoint view displays each
slide of the presentation as a thumbnail and

is usetul for rearranging slides ?
(A) Slide Design

(B) Slide Sorter

(C) Slide Show

(D) Slide Master

Set-D QCA Exam June - 2023
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45.

46.

47.

48.

= o 9 i fashed 9T

(A) T=SE

(B) THHITHTH
(€) T=dHTA
(D) S/

(A) .msa
(B) .dbm
(C) .mdb
(D) .mss

HITHT GER@TEE & USIEvH &l U
TAEE 1 gad & w9 H Tefid i §
3R TR &1 A & & fau

IYA ® ?

(A) TS fese
(B) EIES WM
(C) g M
(D) TIES AR
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49. Where is BCC used ? 49. BCC o1 YA el fhdl Sar g ?

(A) Search engine (A) S g5
(B) Web Browser (B) dOd PSR
(C) Protocol (C) WiEehid
(D) E-mail (D) 3-9d

50. Whatis the binary equivalent of the decimal 50. SIHEE WA 67.625 1 ARAL TRR

number 67.625 ? A T ?

(A) 1000010.110 (A) 1000010.110
(B) 1000011.110 (B) 1000011.110
(C) 1000010.101 (C) 1000010.101
(D) 1000011.101 (D) 1000011.101

51. In contrast of MS-Word, consider the 51. Q’H’Q’H—?ﬂtﬁ qufm, frafafed wem ™

following statements : fo=m ifs

I. By pressing Ctrl + N, we can create I Ctrl+N qdehl 89 91 @'\I'EP@E ERll
a new document. TR & |

II.  The template provides the format I R o e THES Fl YEd YSH
back gate document. FIA B |

Which of the above statement is/are true ? STRIE § | DHA/H HYH T 8/T ?

(A) OnlyI (A) dad I

(B) Only Il (B) had II

(C) BothIandII (C) THEITARII

(D) Neither I nor I (D) AMIARAR I

Set-D QCA Exam June - 2023 (17) TB-2 Cont.....



52.

53.

54.

5S.

Set-D

Which is the valid example of IP address ?
(A) www.example.com

(B) 192.105.232 4

(C) C:\example\exam\

(D) 44::98::77::12::88

Which of the following is not a possible
way of data exchange ?

(A) Half-duplex

(B) Full-duplex

(C) Simplex

(D) Multiplex

1 Nibble is equal to :
(A) 4bit

(B) 8bit

(C) 16bit

(D) 4 Byte

Presentation is a collection of :
(A) Charts

(B) Workbook

(C) Worksheet

(D) Slides

QCA Exam June - 2023

52.

53.

54.

5S.

STEU TSH 1 o8 SETELV I € 2
(A) www.example.com

(B) 192.105.232 4

(C) C:\example\exam\

(D) 44::98::77::12::88

fr=fafea & @ s 2o fafma &
Gaferd aient T8 © ?

(A) TH-ZR

(B) Bo-SRiN

(C) o=

(D) HeRIwie

1 fraa SRR T
(A) 4fa2
B) 8fse
©) 16fae
(D) 4742

U SY h1 Teh GUT © ¢
(A) =

(B) whdH
(C) HETAF

(D) ¥izeH
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56.

57.

58.

Set-D

OSI is an ISO standard for worldwide
communications that defines a networking
framework for implementing protocols.

What does ‘O’ stands tfor ?
(A)
(B)
©)

Operation
Optical
Open

(D) Organization

Which of the following is used by banking
industry to handle large volume of
cheques ?

(A) Digitizer
(B) MICR
(C) Barcode reader

(D) Captcha

The ......... folder retains copies of messages

that you have started but are not yet ready

to send.
(A) Drafts
(B) Outbox
(C) Address Book

(D) Sent Items

QCA Exam June - 2023
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56.

57.

S8.

afrugets faveasard 9= & fau

STETHST A § 511 UIelehlel Sl T i
% faIq AeafenT @re ol TR i B |
‘O’ T AA R Y ?

(A) SATRIH

(B) 3ifieshed

(C) ST

(D) TSR

frAfated § 9 foreeht SUA Sifch T ST
gRI ISt 7T H 9 ] e & fag
e ST § 2

(A) fefserssr

(B) THSTEEIR

(C) dehre (et

(D)

........ Tieel 39 Hell &l Yfqal Wl &
9= o Y& 1 R fean § afea aneft
ok UST & TorT Jam 7181 €1

(A) STHH
(B) =SS
C) TSEIH
(D) ¥ e
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59.

60.

61.

62.

Set-D

.......... is the software creates a mirror image
of the entire hard disk, including operating
system, application, files and data.

(A)
(B)
©)
(D)

Operating system
Drive imaging
Compiler

Utility software

Which of the following topology have a
central controller or hub ?

(A)
(B)
©)
(D)

Ring
Mesh
Bus

Star

Virtual memory allocates the secondary
memory as a supplement/substitute for :

(A) EEPROM
(B) EPROM
(C) RAM
(D) ROM

........ refers to creating, editing, formatting,
storing, retrieving and printing a text
document.

(A) Webdesign
(B)
©)
(D)

Presentation Generation
Word Processing

Database Management

QCA Exam June - 2023
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60.

61.

62.

..........
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63.

64.

65.

66.

Set-D

Which statement is correct in a Boolean
Algebra ?

(A)
(B)
©)
(D)

(xy)=x.y'
(x+y)' =x".y'
xXy)=x+y
x+y)' =x"+y'

NORTON is an example of :
(A)
(B)
©
(D)

Soft copy
Anti Virus Program
Network

LAN

CDs and Hard disks are commonly called

as:
(A)
(B)
©
(D)

Hard copy
Soft copy
Output devices

Secondary storage devices

In MS-Excel, what is AutoFilter ?

(A) Itfilters out the uncorrected words.
(B) Itfilters out the rows from a data table.
(C) Itfilters out only numerical values.

(D) None of these
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67.

68.

69.

70.

Set-D

In MS-Word, MS stands for :
(A) Mediasoft
(B)

©)

Metasoft
Microsoft
(D) Macrosoft

In MS-Word, a small character can be

created below any character this is called :
(A)
(B)
©)

Subscript
Bottomcharacter
Bottomscript
(D) Superscript

Bluetooth is an example of ....... Networks.
(A)
(B)
©)

MAN
LAV

PAN

(D) All of these

Which of the following is not hardware ?
(A)
(B)
©)

MS-Excel
Printer
Mouse

(D) Keyboard
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10.

Set-D

Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Booklet. The candidate has to choose the
most appropriate answer and mark the same
in the OMR Answer-Sheet as per the
direction :

For Example :
Question :

.. ® @ © O
2. ® ® @ ©

Illegible cutting and
overwriting will be cancelle(D)

answers  with

In case the candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, ‘Zero’ mark will be given.

The candidate has to mark carefully as per
direction the answers on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict directions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white flui(D) In case of
violation of this instruction, examinee’s
result may not be processed or the examinee
may be declared disqualified in the exam.

The examinee shall hand over OMR Answer-
Sheet to the invigilator and can take carbon
copy of the OMR Answer-Sheet and question
booklet with himself.

Write your Scholar Number and other
required details in the space provided on the
title page of the booklet and on the OMR
Answer-Sheet with ink pen or ball pen. Do
not use lead pencil.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibite(D)
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